

Pregunta N° 1.

$$y = \operatorname{sen}(\ln(x)) + \cos(\ln(x)) \quad / \frac{d}{dx}$$

$$y' = \frac{\cos(\ln(x))}{x} + \frac{-\operatorname{sen}(\ln(x))}{x}$$

$$y'' = \left(-\operatorname{sen}(\ln(x)) \cdot \frac{1}{x} - \cos(\ln(x)) \cdot \frac{1}{x} \right) \cdot x - (\cos(\ln(x)) - \operatorname{sen}(\ln(x)))$$

$$y'' = \frac{x \left(\frac{-\operatorname{sen}(\ln(x))}{x} - \frac{\cos(\ln(x))}{x} \right) - \cos(\ln(x)) + \operatorname{sen}(\ln(x))}{x^2}$$

$$y'' = \frac{-2 \cos(\ln(x))}{x^2}$$

$$\frac{d^2 y}{dx^2} \cdot x^2 + \frac{dy}{dx} \cdot x + y = 0$$

$$\frac{-2 \cos(\ln(x))}{x^2} \cdot x^2 + \frac{\cos(\ln(x)) - \operatorname{sen}(\ln(x))}{x} \cdot x + \operatorname{sen}(\ln(x)) + \cos(\ln(x))$$

$$-2 \cos(\ln(x)) + \cos(\ln(x)) - \operatorname{sen}(\ln(x)) + \operatorname{sen}(\ln(x)) + \cos(\ln(x))$$

$$= 0 //$$

Sebastián Jerez

206

Pregunta 2

$$\operatorname{tg}(x^3 + x)$$

/ ln

a) $y = 3$

$$\ln(y) = \ln(3^{\operatorname{tg}(x^3 + x)})$$

$$\ln(y) = \operatorname{tg}(x^3 + x) \cdot \ln(3) \quad \left/ \frac{d}{dx} \right.$$

$$\frac{1}{y} \cdot y' = [\sec^2(x^3 + x) \cdot (3x^2 + 1)] \cdot \ln(3) + \cancel{\operatorname{tg}(x^3 + x)} \cdot \left[\frac{1}{3} \cdot 0 \right]$$

$$y' = y [\sec^2(x^3 + x) \cdot (3x^2 + 1)] \cdot \ln(3) + 0$$

$$y' = 3^{\operatorname{tg}(x^3 + x)} \cdot [\sec^2(x^3 + x) \cdot (3x^2 + 1)] \cdot \ln(3)$$

b) $y = \frac{(e^x - x)^{10} \cdot (8 + x^3)^2}{\sqrt{6 + \sqrt{x}}}$ / ln

Problema 7.

$$b) \quad y = \frac{(e^x - x)^{10} \cdot (8 + x^3)^2}{\sqrt{6 + \sqrt{x}}} \quad / \ln$$

$$\ln(y) = \frac{10 \ln(e^x - x) \cdot 2 \ln(8 + x^3)}{\ln(\sqrt{6 + \sqrt{x}})}$$

$$\ln(y) = \frac{10 \ln(e^x - x) \cdot 2 \ln(8 + x^3)}{\frac{1}{2} \ln(6 + \sqrt{x})}$$

$$\ln(y) = [10 \ln(e^x - x) + 2 \ln(8 + x^3)] - \left[\frac{1}{2} \ln(6) + \frac{1}{2} \ln(\sqrt{x}) \right]$$

$$\ln(y) = [10 \ln(e^x - x) + 2 \ln(8 + x^3)] - \left[\frac{1}{2} \ln(6) + \frac{1}{4} \ln(x) \right]$$

$$\frac{1}{y} \cdot y' = \left[10 \cdot \frac{1}{e^x - x} \cdot (e^x - 1) + 2 \cdot \frac{1}{8 + x^3} \cdot 3x^2 \right] - \left[0 + \frac{1}{4} \cdot \frac{1}{x} \right]$$

$$y' = \left[\frac{10}{e^x - x} \cdot (e^x - 1) + \frac{6x^2}{8 + x^3} - \frac{1}{4x} \right] \cdot \left(\frac{(e^x - x)^{10} \cdot (8 + x^3)^2}{\sqrt{6 + \sqrt{x}}} \right)$$

Problema 2

$$c) \quad y = \frac{\sec(x) \cdot (x^2 + x)^{3x}}{110} \quad \text{ln}$$

$$\ln(y) = \ln(\sec(x)) + 3x \cdot \ln(x^2 + x) - \ln(110)$$

$$\frac{1}{y} \cdot y' = \frac{1}{\sec(x)} \cdot \cos(x) + 3 \ln(x^2 + x) + 3x \cdot \frac{1}{x^2 + x} (2x + 1) - 0$$

$$y' = y \left[\cot(x) + 3 \ln(x^2 + x) + \frac{6x^2 + 3x}{x^2 + x} \right]$$

$$y' = \left[\frac{\sec(x) \cdot (x^2 + x)^{3x}}{110} \right] \left[\cot(x) + 3 \ln(x^2 + x) + \frac{6x^2 + 3x}{x^2 + x} \right]$$

Problema 3

A) $y^2 = x^3 + (\sin(xy)) - x \ln(y)$; $\frac{dy}{dx}$

$$2y \cdot y' = 3x^2 + (\cos(xy) \cdot (y + x^2 y')) - (\ln(y) + x \cdot \frac{1}{y} \cdot y')$$

$$2y \cdot y' + \frac{x}{y} \cdot y' - \cos(xy) \cdot (xy') = 3x^2 - \ln(y) + \cos(xy) \cdot y$$

$$y' \left(2y + \frac{x}{y} - \cos(xy) \cdot x \right) = 3x^2 - \ln(y)$$

$$y' = \frac{3x^2 - \ln(y) + \cos(xy) \cdot y}{2y + \frac{x}{y} - \cos(xy) \cdot x}$$

B) $y + x \cdot \sqrt{1+2y} = x^2$ Der. Pto. (1,0) ;

$$y' + \left(\sqrt{1+2y} + x \cdot \frac{1}{2\sqrt{1+2y}} \cdot 2y' \right) = 2x$$

$$y' + \frac{2xy'}{\sqrt{1+2y}} = 2x - \sqrt{1+2y}$$

$$y' = \frac{2x - \sqrt{1+2y}}{1 + \frac{x}{\sqrt{1+2y}}}$$

$$y' \left(1 + \frac{x}{\sqrt{1+2y}} \right) = 2x - \sqrt{1+2y}$$

$$y' = \frac{2x - \sqrt{1+2y}}{1 + \frac{x}{\sqrt{1+2y}}} = \frac{2(1) - \sqrt{1+2(0)}}{1 + \frac{1}{\sqrt{1+2(0)}}} = \frac{1}{2}$$

Problema 4.

a) Encontre a eq. da reta tangente a γ no $(1, -4)$

$$3x^2y + y^2 = 3x = 1$$

$$6xy + 3x^2 \cdot y' + 2y \cdot y' - 3 = 0$$

$$6(1) \cdot (-4) + 3(1)^2 \cdot y' + 2 \cdot (-4) \cdot y' - 3 = 0$$

$$-24 + 3y' - 8y' = 3$$

$$-\frac{27}{5} = y'$$

$$M_t = -\frac{27}{5}$$

$$L_t: y - y_1 = m(x - x_1)$$

$$= y + 4 = -\frac{27}{5}(x - 1)$$

$$y = -\frac{27}{5}x + \frac{27}{5} - 4$$

$$y = -\frac{27}{5}x + \frac{7}{5}$$

Problema 4

6)

Det

L. Normal.

$$f(x) = x^3 - 8x + 2$$

$$M_{15} = 4$$

$$y = x^3 - 8x + 2$$

$$S: M_u = 4$$

$$y' = 3x^2 - 8$$

$$M_{\text{tangent}} = -\frac{1}{4}$$

$$3x^2 - 8 = 4$$

$$3x^2 = 12$$

$$x^2 = 4$$

$$x = 2$$

$$x = -2$$

$$Pto: (2, -6)$$

$$y = 8 - 16 + 2$$

$$y = -6$$

$$L_n: y - y_1 = M_n (x - x_1)$$

$$y + 6 = -\frac{1}{4} (x - 2)$$

$$y = -\frac{1}{4}x + \frac{1}{2} - 6$$

$$y = -\frac{1}{4}x + \frac{11}{2} = L_n$$